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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions. Use of non-programmable simple
calculator is allowed in this paper.
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Section-A 8x2=16
(Very Short Answer Type Questions)

Note — Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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1. (1) What is meant by Social Welfare Function ?
IS HEAToT Held T STE 1 § 7

(i1)) What is Opportunity Cost ?
SR AN T ?
(i11)) What is Substitution Effect ?

yfeeos gy = g ?
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(iv) What is Concave Indifference Curve ?
AR qeErd a5 fordd wed § 2

(v) What do you understand by Point Elasticity ?
fog o | 319 91 FHEd § ?

(vi) Define Price Discrimination.
HHa favg &1 g9 |

(vii) Draw average Fixed Cost.
siea feer @ 1 fos aARU)

(viii) What is Perfect Competition Market ?
ot el IR o ¥ 2

Section-B 4x8=32

(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.

gus—a
(g T q99)

feor - fo=l IR 9ol & S SifSu) 39 o9 SRR I
Afreray 200 w8l H REHG HIfST Il Tde 99

8 &k T Tl

MAEC-01/7 (3) TR—200 TurnOver

. Write the Ricardo Theory of Rent.

~

RepTet o &1 onyfae fagrma fafe |

. Examine modern theory of Interest.

= % YT o &1 wieo S|

. Explain the factors affecting the elasticity of

Demand.
i I o skl G9fad o1 o1l ol ohi SATEAT
RIS |

. Explain Income consumption curve with the help

of diagram.

3 SYMFT 9% i @S & HIEgH § AR HIT |

. What do you understand by Consumer

Equilibrium ?

IYYRT W Y 39 N GEEE § 2

. Explain Chamberlin Model.

e HisH i ARl HifeU |
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8. Explain the properties of Isoquant curve. 11. What do you mean by three stages of production

g 3afa o it fagoand fafem | in shortrun ? Explain with the help of diagram.
9. Explain increasing return to scale. AU H SAAEH hi I STIEeaneq & ST9ehT o= ST
YoM & gd Wfawa ol e Hifsu | T 2 Efad St WEEd ¥ TR Hifeu |
Section-C 2x16=32 12. What is Monopolistic Market ? Explain with the
(Long Answer Type Questions) help of diagrams that how price and output

Note .— Answer any two questions. You have to delimit determined in this market ?

THITeRIcHs Ffaafiar =0 & ? Y@nfesl & deq 9
Tzt R 39 yfadfiar § wivd we 3 &1 fAur

your each answer maximum up to 500 words.

Each question carries 16 marks.
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39T ;- TRl Q1 Ul & ST SIS 3T 3 IR ] AR 13. Write short notes on any two of the following :
500 v GREH HISTC) Joockh 997 16 37k 1 T (i) Slutsky Model for price, income and
10. What is Price Flasticity ? How many types of price substitution effect

elasticity are there ? What are the methods for N ] o .
(i1)) Marginal Productivity theory of Distribution.

measurement of the price elasticity ?

T T RIHAT A FAN T 7 KA A R TER HY
B ¥ ? HIFd " R WA HI HA-wEE At cost
g2 (iv) Knight profit theory

(ii1) Relationship between average and marginal
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